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I.  Basic Questions. 

· How do we describe the range of syntactic frames which many verbs have?

Terry swept.

Terry swept the floor.

Terry swept the crumbs into the corner.

Terry swept the leaves into a pile.

Terry swept the leaves off the sidewalk.

Terry swept the floor clean.

Pat skipped.

Pat skipped into the house.

Pat skipped herself into a frenzy.

Pat skipped her way into the hearts of millions of viewers.

· How do we account for the fact that some verbs, or verb classes, show much more syntactic variability than others?

*Bob broke.

*Bob broke the glasses into a pile. (cf. She broke the crackers into the soup.)

*Bob broke the glasses off the shelf. (cf. She broke the branches off the tree.)

Moe went to the liquor store.

*Moe went himself into a frenzy.

*Moe went his way into the house.

II. Basic Assumptions

· Lexical Projection. “Many aspects of the syntactic structure of a sentence—in particular, the syntactic realization of arguments—are projected from the lexical properties of the verbs” (RH&L: 97). 

· Radical polysemy. The distinct syntactic frames accord with distinct verb meanings, although verbs keep their basic class membership. This means that most verbs are polysemous, and many are highly polysemous. 

· Alternations are aspectual. When the syntactic frame of a verb changes, this change arises from a shift in the aspectual class of the verb:

	I walked yesterday.

	activity

	I walked to the Trident yesterday
	accomplishment

	I dusted yesterday. 



	activity

	I dusted the coffee table yesterday. 
	accomplishment


· Alternation possibilities are determined by the semantic class of the verb. Some verb classes alternate in a way that other, related verb classes do not: manner verbs (sweep, dust) vs. result verbs (break, change), manner-of-motion verbs (walk, skip) vs. directed-motion verbs (e.g., go, arrive). The verb keeps its basic aspectual-class membership whatever pattern it happens to appear in. 

· Semantic classes of verbs are represented as aspectual or Aktionsart classes. For example, manner verbs are activities while result verbs are accomplishments. 

· Aspectual representations involve semantic decomposition. These representations contain both constants and variables. The constant gets filled in by the particular component of the verb meaning which distinguishes that verb from all other verbs in its same class:

	Aspectual (Aktionsart) Class
	Semantic Representation

	State
	[x <STATE> ] e.g., shine

	Activity
	[x act <MANNER>] e.g., skip

	Achievement
	[become [x <STATE>]] e.g., sink

	Accomplishment
	[[x act <MANNER>] cause [become y <STATE>]]] e.g., build

	Accomplishment
	[x cause [become y <STATE>]] e.g., break


· The set of roles associated with the verb may properly include (contain) the set of roles assigned by the template. E.g.., Irving swept the floor. In this example, the ‘surface’ argument is not a structure participant, since it is contributed by the verb and not the aspectual pattern.

· Verb-pattern alternations are represented as ‘transformations’ which operate upon decompositional structure:

	1. [x act <MANNER>]  [x act <MANNER>] cause [become y <STATE>]]] 

	2. [x <STATE>] become [x <STATE>]]


III. Claims

More complex event structures are built from simpler ones. The way in which a verb ‘gets’ another syntactic pattern is through template augmentation. Event-structure templates may be freely augmented up to other event-structure templates in the basic inventory of event-structure templates (p. 111)

Augmentation, not reduction. Derivations add information, but do not subtract information.

Subevent identification condition. “Each subevent in the event structure must be identified by a lexical head, e.g., V, A, or P, in the syntax” (p. 112). 

Structural argument realization condition. “There must be an argument element in the syntax for each structure participant in the event structure” (p. 113). 

IV. Analysis

The two classes of verbs, result and manner. Result verbs are maximally specified, hence:

*Kelly broke the dishes valueless.

*Kelly broke the dishes off the table.

Because of the structural argument realization condition there is no null complementation possibility:*She broke all day yesterday. (vs. She swept all day yesterday). 

Indefinite null complementation. A null complement reflects a content argument, which can be deleted under conditions of recoverability. The conditions may vary from verb to verb. E.g., She scraped yesterday is awkward without context. 

Externally caused changes of state. E.g., The door opened. The agent or effector participant cannot be deleted, since we can only augment. Their solution: English is odd, unlike Romance, in which the agent is present. Eg., French La porte s’est ouverte (lit. ‘The door opened itself’). 

Internally caused changes of state. The amaryllis  bloomed. These are either states or achievements, the latter via augmentation. We sat in the garden while the amaryllis bloomed. The amaryllis bloomed on Tuesday. 
V. Problems

The subevent identification condition is fulfilled by stipulation in some cases. Think about: They broke the DVD player. There are two subevents, but only one lexical head, the verb. 

The analysis of state and activity verbs.  Why assume that the activity template is monovalent (intransitive)? There are both transitive activities (chew gum) and intransitive (chuckle). There are also transitive state verbs, e.g., prefer, like, have, know. Why assume that state verbs are basically intransitive?

The analysis of indefinite null complementation. RHL predict that all state and activity verbs will allow indefinite null complementation, since states and activities are always structurally monovalent. But this prediction is falsified by the following ill-formed examples: *She never prefers. *They discussed. They also predict that accomplishment verbs will never allow allow indefinite null complementation, since their second arguments are always structural arguments. But this prediction is falsified by the following examples: She never fails to impress. Tigers kill at night. 

The analysis of internally caused change of state verbs. Verbs like bloom, blossom, rust, do not appear to be stative via the tests. The when test: We were in the garden when the amaryllis blossomed (vs. We were in the garden when the moon was full).The present-tense reporting test: *Look! The amaryllis blossoms!
The analysis of externally caused change of state verbs. The idea that verbs like achievement break (The branch broke) are accomplishments is hard to swallow. It seems to be required because we cannot subtract information, but what about passives and resultatives? E.g., The car was fixed. The car is fixed. 

The analysis of result verbs. There is counterevidence to the claim that maximal templates cannot be further augmented:

She broke the branch off the tree.

She crumbled the feta into the salad.
Gaps. Not every imaginable application of Template Augmentation works. E.g., AchievementAccomplishment: *The mailman arrived the letter. What accounts for these gaps? RH&L say that the causative of an achievement is “lexicalized separately” (p. 124). Isn’t this explanation circular?

The analysis of telicity in manner-verb predications. The authors are forced to say that the in-phrase of duration doesn’t necessarily indicate telicity:

She swept the floor for 15 minutes.

She swept the floor in 15 minutes. 

This may have it backwards! It might be that sweep comes in telic and atelic versions! Not all argument patterns are specified for aspect. The German be-construction:

Sie besegelten die Karibik  EQ \b\bc\{(\a\al(in drei Monate,drei Monate lang)) .

‘They sailed   EQ \b\bc\{(\a\al(the Carribean in three months,around the Carribean for three months)) .’  

There may be a transitive event-structure template for activities, and this may be underspecified for aspect.

Only some phenomena can be analyzed profitably. The analysis leaves out valence reduction, e.g., Passive and Resultative constructions. 

